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1.

Which of the following Doctrines are associated
with Jainism?

(i) Anekantavada

(ii) Sarvastivada

(iii) Sunyavada

(iv) Syadvada

Select the correct answer using the code given
below -

(1) (i) and (iv) (2) (ii) and (iii)

(3) (ii) and (iv) (4) (i), (ii) and (iii)
Varika Vishnuvardhan Victory Tower situated
in Bayana Fort belongs to which period?

) The Mauryan period

(2) The Sultanate period

(3) The Gupta period

(4) The Mughal period

Among Mauryan idols, the idol inscribed with
the name Manibhadra (Yaksha) was found from
which place?
(1) Noh village
(3) Jhing-ka-Nagra (4) Parkham
Where and when was the
‘Mazharul — Saroor’ published?

(1) Udaipur, 1879 (2) Ajmer, 1840

(3) Jaipur, 1856 (4) Bharatpur, 1849

Match list-I with list-II and choose the correct
answer from the code given below-
List-1
* (Folk Musical Instrument)
(A) Bhapang '

(2) Besnagar

newspaper

(B) Nad
(C) Algoza
(D) Khartal
List-II
(Famous Music Artist)

(i) Sadiq Khan

(ii)) Zahoor Khan

(iii) Karna Bheel

(iv) Ramnath Choﬁdhary
Code -

(1) A-(ii), B-(i), C-(iii), D-(iv)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(ii), B-(iii), C-(iv), D-(i)
(4) A-(iv), B-(iii), C-(ii), D-(i)

1. frefaRed § 9 B9 - 39 9 Rigla oF o

I gafea 87
() IFPIIAE
(i) gaRar
(iii) TFIaTS
(iv) HTedrs.
9 A ™ de B I TR OFE SR
gy —

@) () TE (iv)
(3) (i) TG (iv)

(2) (i) T (iii)
) (i), (i) T (iii)

2. qur gt Rea aRe fawee fasa ww féa

BTl BT HAT W 87
(1) 911 BT

(2) geaad &1

@) g B

(4) g1t Pret

3. ARt pref ik ¥, Hﬁnﬁ(ua)wﬁerﬁm

A fre e | Ut g8 o7
(2) TR
(4) REHq

(1) A ™
(3) S T—®H1—T=T

4wmmwmﬁsﬁ?m

EEINS IS (A
(1) 35T, 1879
(3) STagR, 1856

(2) 3TRR, 1840
(4) WRAYR, 1849

5. -1 vd A1 &1 gafora S aon e

fd T g | ¥ ¥ <R gAY —
Bl |
(e @ 47)
(A) U
(B) 7S
(C) ST
(D) @sdra
-1
(e weTHIR)
() e @i
(i) SR @i
(iii) BT Hret
(iv) RTEATT =AY
'(BE-"' =]
(1) A-(ii), B-(i), C-(iii), D-(iv)
(2) A-(i), B-(ii), C-(iii), D-(iv)

- A8) A-(ii), B-(iii), C-(iv), D-(i) ]

(4) A-(iv), B-(iii), C-(ii), D-(i) -
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6. Match list-I with list-II and choose the correct

answer from the code given below-
List-1
(Tirthankara)
(A) Parshvanath
(B) Adinath
3 (C) Mahaveer
(D) Shantinath
List-II
(Their cognition)
(i) Bull
(ii) Lion
(iii) Snake
(iv) Deer
Code - :
(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(ii), B-(iii), C-(iv), D-(i)
(4) A-(iii), B-(i), C-(ii), D-(iv) ;
- Where is the Rajasthani Bhasha, Sahitya and
Sanskriti Academy located?
(1) Jodhpur (2) Bikaner
(3) Jaipur (4) Udaipur
- Match list-1 with list-II and choose the correct
answer from the code given below - -
| List-1
(A) Howrah Conspiracy case
(B) Lahore Conspiracy case
(C) Delhi Conspiracy case
(D) Alipore Conspiracy case
List-II
(i) Master Ami Chand (Amir Chand)
(i)  Arvind Ghosh
(iii) Jatindranath Mukherjee
(iv) Rajguru
Code - .
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(iii), B-(iv), C-(i), D-(ii)

B T

(i) Rig

(iii) |4

(iv) f&=or

@ i

(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(i), B-(ii), C~(iii), D-(iv)
(3) A-(ii), B-(iii), C~(iv), D-(i)
(4) A-(iii), B-(i), C-(ii), D-(iv)e

7. ORI T, AR d WP SBIHl BEl

sraflera 87
@) SiergR (2) §rrR .
() SagR (4) 3R
A1 vd G-I &1 gAferd STy qen A=
& T g § ¥ ¥ W gAY -
A1
(A) BTIST TSI HH
(B) WER ¥SIH B
(©) Rl vgaa a9
(D) 3R §SIF B9
A1
(i) ARER e (3rRER)
(ii) sRfa= oy
(iti) SfsRr sl
(iv) XITTo
-W._\d s
(1) A-(ii), B-(iii), C-(iv), D-(i)e -
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv)
(@) A-(iii), B-(iv), C-(i), D-(ii)
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9. Which one of the following pair is not correctly 9 f=ifeiRa # &= &1 v Y7 wE Gafera el
matched? &7
Books — Authors EF'_* — e
(A) Neh Tarang - Saw.aLiPratap Singh (A) 7€ T — HaTg YaTIRiE
(B) Nagdaman - Sayaniji Jhula (B) FIRTEHTT — WiATSl Sl
(C) Ranmal Chhand - Shridhar Vyas (C) I B — SR A
(D) Bhasha Bhushan - Maharaja Jaswant Singh (D) ¥T8T YT — HERTAT Sigad g
(1) B (@ C (1) B @ cC
3D (4) A 3) D 4 A
10. Bhatiyani Pratapkunwari, the queen of Jodhpur 10 WRIgR ver #ARAE @ I Afearol ydmaees
King Mansingh got the temple reconstructed F 3 §RT IR TR HXR BI G: 343 gan,
elsewhere as the earlier one had caved in. She i gel arefl HiR S | g AT o, 3R
got the temple consecrated in 1857. The name of _ SH FHEBT U7 GRS 1857 H BN | 9 HAR
temple is - P T B — ) '
(1) Mahamandir (1) wEmfeR
(2) Teeja Manji Temple (2) from wiefl @1 AR
3 K_unj Bihari Temple (@) ot faerdy wfew
(4) Ghanshyamji Temple (4) aeaTSh &1 HAfeR
1. What is ‘Aanau’ in social customs and traditions = 11- o™ & Afq — Rarsii #§ ‘arvit’ @@y 287
of Rajasthan? il :
(1) After marﬁége sending bride to her in-law’s & fRaTe & ] el b O A
house for the second time AT
(2) Worship of Jal Jhulni Ekadashi (2) Srergertt Bt Y1l qoit
(3) Going to see the bridegroom’s wedding place @) g @ W BRI &R B ARE BT S
by bride’s family < ST |
(4) Well worship (4) B3 i
12. Name the revolutionary woman, who 12 39 Wmifder ) #fken &1 9 ¥y R
participated in the Peasant Movement of fasitferan fram arele ® 9T form ek 9
‘Bijoliya and was arrested. She also participated fRyar fear T gor 1930. & 9gamE 8k
in 1930 Satyagréh and 1932 Civil Disobedience 1932 & |Afd9y ras 311.733[:{ # 97 forar ek
Movement and was sentenced to Jail - oI T -
(1) Ratan Shashtﬁ OEGERIIE=]]
(2) Kishori Devi (2) fremd <
(3) Rama Devi (3) T <&
(4) Anjana Devi Chaudhary (4) 35T <8 AR
01-'*> Page 4 of 32



13. Match list-I with list-II and choose the cotrect ?frﬁ—l Qa —I1 &1 GAfeTd HITY qer ==
answer from the code given below - | ¥ el ST Y —
List—I
(A) The Battle of Gagron (A) TIT‘RTUT ¥ &
(B) The Battle of Sarangpur (B) WRTR &1 Jg§
(C) The Battle of Summel (©) ﬁﬁa B g
(D) The Battle of Saheba (D) RS BT IG
List-11 : m
(i) 1544 AD (i) 1544 %
(iii)) 1437 AD (i) 14378
(iv) 1541-42 AD . \
Code - (iv) 1541-42%.
R -
(1) A-(@), B-(iii), C-(ii), D-(iv) @) A-Gi), B-(iii), C~(ii), D-(ivA~"
(@) A-(i), B-(ii), C-(iii), D-(iv) (2) A-@i), B-(ii), C-(iii), D~(iv)
(3) A-(ii), B-(iii), C-(iv), D-() (3) A-(ii), B-(iii), C-(iv), D-(i)
(@) A-(iv), B-(iii), C(ii), D-(i) (@) A-(iv), B-(iii), C-(ii), D-()&~
14. During the Quit India Movement, a girl named A2 wrq Bl ATRIAT ® GRM, HADGAA T3]
Kanaklata Barua led a public procession and qAEG- Y A1 -1 Sl BT Geb Sfefd fHeprern
defying the police, tried to enter the police 3ﬁ-\rgf$m @B GRATE P Y o= H gqqff 7}
station but was shot dead. This incident took U H el @rs | 98 ueHr fhy wme Y 87
jflace at - | (1) frg=mgR (2) Ty
(1) Midnapur (2) Sonitpur (3) PRI (4) TEgR
(3) Korapur (4) Gohpur
15. Which of the following statement regarding 15 w971 3@t @& R # /= & 9 P91 B &l
Ruma Devi is not true? T2 87 ] , ‘
(1) She played a major role in providing (1) 3= TaRI Afeerel &I JASTR derar o
employment to Thousands of Woman. H ored Arfer s |
(2) She is known in the field of Handicrafts. ) 3= Tfey & 89§ ST W 2
(3) Slgﬁ was) brought-up in the village Jasrapur @ A SRR () Tita ¥ ueh — 3
(Khetari). : . : &
(#) She was felicitated with ‘Nari Shakti Award i wﬁzwﬁa” Al 'g e ik
by the President of India in 2018.
16. When and with whose efforts was Indian @ 33T Recye oifs A~ & RIUAT dTeR
Institute of Science established in Bangalore? ¥ w9 AR P vl | g8
(1) 1917, Prafull Chand Rai ' (1) 1917, hed ¥ I
(2) 1930, J. C. Bose (2) 1930, o, 9. 99
(3) 1911, Meghnad Saha (3) 1911, VEATE WTET
(4) 1909, Jamshed ji Tata (@) 1909, SIS eTeT
17. When and where was the Central () W S’?I’c??ﬁ?ﬁ'cﬁﬂ Red gRecyge &1 Iy
Electrochemical Research Institute established Ifear, . wifd WHY ¥eAarR ud
with the efforts of Alagappa Chettiar, Dr Shanti q, STATERETe J8% © YATA ¥ el iR Be @)
Swaroop Bhatnagar and Pt. Jawahar Lal Nehru? TS?
(1) Shivganga, 1953  (2) Lucknow, 1951 (1) Rraerm, 1953 (@) &, 1951
(3) Chennai, 1948  (4) Karaikudi, 1953 (3) =18, 1948 (4) FREHS, 1953
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18.

19.

20.

21,

22,

Consider the following statements and choose

the correct answer using the code given below —

Statement 1 : Krishnadevaraya, ruler of
Vijaynagar wrote the treatise
Amuktamalyada.

Statement 2 : Krishnadevaraya is also known by
the name of Andhra Bhoj.

Statement 3 : Allasani Peddana, the poet laureate
well versed in Sanskrit and Tamil,
adorned his court.

Code -

(1) Statement 1 is true

(2) Statement 2 is true

(3) Both the statements 1 & 2 are true

(4) All the three statements are true

Where in Rajasthan, the printing press ‘Vedic

Yantralaya’ was established?

(1) Ajmer (2) Jodhpur
(3) Udaipur (4) Jaipur
The Saints named Bakhnaji, Sant Das Ji,

Jagannath Das and Madho Das were associated
with which of the following Sect?

(1) Ramsnehi Sect (2) Jasnathi Sect
(3) Dadu Panth (4) Laldasi Sect

On which part of body ‘Toti’ ornament is worn?

(1) Ears (2) Nose
(3) Waist (4) Hand

Match list-I with list-II and choose the correct
answer from the code given below -
List-I

Vrihi

Mudga

Yava

Ikshu

List-II =~

(1) - Sugarcane

(ii)) = Rice

(iii) Mung bean

(iv) Millet

Code -

(1) A-(i), B-(i1), C-(iii), D-(iv)

(2) A-(ii), B-(iii), C-(iv), D-(i)

(3 A-(iii), B-(iv), C-(i), D-(ii)

(4) A-(iv), B-(iii), C-(ii), D-(i)

(A)
(B)
©)
(D)

@ f= wol W RER ARA IR RY T o

BT TANT YA §Y FE SR BT FAT DBIord —
FUF | : OgTR & T9d FORERE A
SIS U B &1 DI |

FIT 2 : FURERE BT A A & A9 6
ST ST R |

I TRER B e Ul D
RUSEAE] HRAT o1, A AW
vd afiier 1 TSI BT S o |

HYAq 3 :

R'._

(UE‘«’HIF&‘T%\’

(2) BT 2 HE B

(3) BT 1 3R 2 g 9o &
@) T =7 P TE &

20.

fasar Tar oar?
(1) 3R
(3) IEAR

(2) SR
(4) SrIgR

FETON, FAaar o, mﬂmﬂsﬁvmm

AHE Gal b1 dey FA=feiRad § | fhw wwer
D T AT
(1) AL TR
(3) 313 v

(2) SR AwIeT™
(4) ST e

@D < o v B f R A TET o

22,

)

(1) d= (2) 91

(3) wfe (4) grer

-1 w8 gA-11 S Gaferd Sifrg qor =i

I T Fe § 9 9 S gy -
-1

(A) drE!

(B) H&T

(C) Tg

(D) 3

- gE-n

(G) T

(i) =radt

(iii) T

(iv) St

@' =

(1) A-(i), B-(ii), C-(iii), D-(iv)

(2) A-(ii), B~(iii), C-(iv), D-(i)*

(3) A-(iii), B-(iv), C-(i), D-(ii)

(4) A-(iv), B-(iii), C-(ii), D-(i)
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23. The Rajamundri Social Reform Association to

encourage widow re-marriage was founded in 1871 3. # o AR ReE  ghifieeE

1871 by - Tenfid fsar war o1 —

(1) K. T. Telang M .Ef\x <1 e g

(2) Gopalachariar (2) TATATERAR NI

(3) Veeresalingam (@) drerferTd grI-

(4) K. Ramakrishan Pillai (4) . P fIeers gRI

24. Match list-T with list-II and choose the correct - -1 T9 g1 B gafed Sifog qen e
answer from the code given below - A T we § | ¥ W gAY -
(Festival) (@ER) _

(A) Kajli Teej of Bundi (A) &I BT ol el

(B) Holi (B) Breil ’

(C) Paryushan Parva (C) T ud

(D) Gangaur (D) TORIR
List-I1 : A1
(Date/Month of celebration) (g 3 il /9E)

(i) The third of Bhadrapad Krishna (i) wEuE FW m

(ii) Full moon day of Phalgun (i) BT ‘Jﬁ‘:ﬂ

(iii) Bhadrapad Month (i) WEUS =TS

(iv) Chaitra Month (iv) =3 918

Code - He —

(1). A-(iv), B-(iii), C-(ii), D-(1) (1) A-(iv), B-(iii), C-(ii), D-(i)

(2) A-iii), B-(iv), C-(i), D-(ii) (2) A-(iii), B-(iv), C-(1), D-(ii)

(3) A-(i), B-(ii), C-(iv), D-(iii) (3) A-(i), B-(ii), C-(iv), D-(iii)

(4) A-(i), B-(ii), C-(iii), D-(iv) 44) A-(i), B(ii), C-(iii), D-(iv)

25. Consider the following statements pertaining to ~ 25- Jgs I @ IR ¥ 79 $oFi R =R
the Ahar Civilization — HIfTT — |

(A) The natives of Ahar knew copper smelting. (A) IMESIARI TG TAHT IGREOR

(B) Rice was unknown to them. (B) 3 T argdt ¥ uRfa € o

© Metal work was one of the means of " (C) a1g @ BT ESaRE @ seferawen &1
economy of the Abhar. _ TP G AT ‘

(D) Black — Red coloured pottery have been (D) T&T W Brel — eirer 7 wEHmS A ¥ R
found here, on which generally white PN TR . quﬁ‘cﬁa sfert
coloured geometrical designs have been S8 TE ¥
carved.

Choose the correct option - gl ﬁm s W T —

(1) C and D are correct () Cvd D W &

(2) A, B and C are correct 2) A,BTd C Wl &

(3) A, C and D are correct (3) A,CTd D Wl &

(4) A and B are correct (4) Avd BEE &
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26. Which of the following statement about @ TR fum uReg @& Swares @ oy T

217
- Directive Principles of State Policy in the

28.

29.

resolution adopted by a State Legislative

Assembly under Article 169 of the Constitution

of India for the abolition of the State Legislative

Council is correct?

(1) It does impose an obligation on the Union
Government to take action for initiating
legislation in Parliament.

(2) It does not impose an obligation on the Union
Government to take action for initiating
legislative in Parliament.

(3) It does not impose an obligation on the

Governor to reserve resolution for the
consideration of the President. :

(4) 1t does impose an obligation on the Governor
to reserve resolution for the consideration of
the President.

Identify the  correct pair mentioning the

Constitution of India -

(1) Organisation of village Panchayat — Article
41

(2) That there is equal pay for equal work for
both men and women — Article 39

(3) Organisation of agriculture and animal
husbandry — Article 43

(4) Equal justice and free legal aid — Article 42

Who among the following Judges of Rajasthan

High Court has held the office of State Minister

in Government of Rajasthan? '

(1) Justice Yad Ram Meena

(2) Justice Farooq Hassan

(3) Justice Suraj Narayan Didwania

(4) Justice Mohammad Yamin

Which one of the following said, “A
Constitution, like a machine, is a lifeless thing.
It acquires life because of the men who control
it and India needs today nothing more than a set
of honest men who.will have the interest of the
country before them™?

(1) Dr. B. R. Ambedkar
(2) Mahatma Gandhi

(3) Jawahar Lal Nehru
(4) Dr. Rajendra Prasad

27.

e g1 Wi & T 169 & 3icta

wWipd Fhed & g H F=ifpa § 4§ $iFan

FHUF EI 27

(1) B WRBR GR qrear BRI dvar @
g8 |9 # fafy fafor &g sria & |

(2) p TRBR W P15 IrIar R T2
ol ® 6 a8 dug § Ay famir 2g
HRIATE BN |

(3) IR R B ST ARG TE FHRar
¢ f& a8 dow @ Igufy & AR g
JIRFET HY |

(4) T TR qREIET SRR war 5 98
Haew B TLUf & AR g IR & |

IR @ dfeus # aftfa ify Fewe a@l &1

gHfera g™ ygang -

(1) I ERIGH BT ST — AR 41

(2) gyl 3R i S &1 wA e sl & forg
HHM 9 8 — ATE 39

.@?ﬁsﬁ?vgqm‘rrmw-awa%

@ e < IR Fryges e wermar —
Igese 42 ‘
RIS Sedl =arrerd & freiifebe =ararefiei #
H B ORI WER H TRHA & U W

IR W@ 77 :

(1) SRew grexm Ao

(2) SiRew wrew g9
(3) SReH RS ARIT Srsarfn
@) SRew wEwrg ame

@9) Fre=ifarfad ¥ W Rrert FeT o, v WRU P

HAH B TRE IO Al B, $9H 9 AT oA
Bdhd & W gdHT FEF BRa §, IRT H 9
BB SAFGR AR @) srawged & e forg
Iefed & wamR 27 ;

(1) S1. 91 3R, S HR

(2) HETHT RS

(3) STaTER el HgH
(4) . oI ygIe

01-3%
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30. Fundamental Duties were incorporated in the

Constitution on the recommendation of -

30. wfge # ol Sl B el Rk w

gftafere fbar Tam, a8 & —

(1) Administrative Reforms Commission (1) yemIfes GUR I
- (2) Swaran Singh Committee (2) @t Riz afafy
(3) Shah Commission (3) I BT
(4) Santhanam Committee (4) G |k
31. Assertion (A) : The Duty of Comptroller and @ FUT (A) : RIS TG FRTORAT GRIETDH BT Heied
Auditor General is not merely to 9 dael < & derdl GEREd HIAT
ensure  the legality  of g e,;ﬁ'@ aitferea o+t 81
expenditure but also its PRI (R): SY =iy gome & e | dfeum
propriety. | AR FEE B FEAT BT A @
Reason (R) : He has to uphold the Constitution &y
and the Laws of Parliament in the
field of financial administration. '
(1) Both (A) and (R) are true but (R) is not a (1) (A) 3R (R) SHf ¥8 8 &g (R), (A) Cal
correct explanation of (A) T T ARl B
(2) Both (A) and (R) are true and (R) is the @) (A) 3R (R) &Fl F&1 & UG (R), (A) @I
correct explanation of (A) TE IR
(3) (A) is false but (R) is true (3) (A) T & AfbT (R) TE &
(4) (A) is true but (R) is false @ (A) ¥ & Afd (R) 7Tord ®
32. Gurumukh Nihal Singh was appointed as the 32 ToHg faTel Rig ®1 TSR BT HorH IoTUTd
first Governor of Rajasthan on - fge feam wrar o —
(1) 25" October, 1956 (1) 25 3FEER, 1956 B
(2) 26" October, 1956 (2) 26 3rFcER, 1956 B
(3) 2" November, 1956 (3) 2 TawR, 1956 F
(4) 1* November, 1956 @) 1 TR, 1956 Ble
33. Which of the following Chief Ministers of ~ ©3) vomer & Fremifrd el & & B
Rajasthan have not been the member of Lok T & G ol W8 87
Sabha? (A) BReg el
(A) Hari Dev Joshi (B) i Rig I@m@q
(B) Bhairon Singh Shekhawat (C) SHRE grehaTe
(C) Tika Ram Paliwal (D) SRFeAE @
(D) Barkatullah Khan . T8 TR E -
e 5o
n an
(2 Onlz (A), (B) and (D) (2) Bt (A), (B) 3R (D)
(3) (A), (B). (C) and (D) 3) (A), (B), (C) 3R (D)
(4) Only (B), (C) and (D) (4) B9 (B), (C) 3R (D)
01"% Page 9 of 32



34. Match list-I with list-II and identify the correct 34 &I—I &1 -1 ¥ e FIRTY iR M Ry
answer from the code given below - Y G H F HE SR BT T HIY —
List-1 -1
Constituent Assembly Committee wfeer g afafey
(A) Fundgmental Rights (A) HoT ARBR
% ISJte'ermg (B) P wHeTer
nion powers :
(D) Draftin% ' Eg; ;T-;q?@ﬁ
List-1I I
Chairman arTE
(i) B.R. Ambedkar (i) & IR IRTIR
(i) Jawahar Lal Nehru (ii) STATERAT 8% .
(iii) K.M. Munshi (iii) ®. TH. gg‘ﬁ
(iv) Sardar Patel (iv) 9RER Yo
Code - 6T — ,
(1) A-(iv), B-(iii), C-(ii), D-(i) $1) A-(iv), B-(iii), C-(ii), D-(i)~
(2) A-(ii), B-(iv), C-(iii), D-(i) (2) A-(ii), B-(iv), C-(iii), D-(i)
() A-(iii), B-(iv), C-(ii), D-(i) (3) A-(iii), B-(iv), C-(ii), D-(i)~
) A-(ii), B-(iii), C-(iv), D-(i) () A-Gi), B-(iii), C-(iv), D-(i).

35. Under Article 103 of the Constitution of India,  35. #Rd & WfAer= & argeoT 103 & de&d, TEURT
the President shall obtain the opinion of which AHTIT o] B FREaRl 3 Heita ) f
of Fhfa following authority before giving any g ) B ol 3 W q\é Frmifra 0 9
decision on any question regarding the
disqualification of the members of the Lok fepat 1 e
Sabha? (1) Sooaq =TT -

(1) Supreme Court (2) HET=ITIETS

(2) Attorney General (3) FAHawTETET .

(3) Speaker of the Lok Sabha (4) fyafer amanT

(4) Election Commission _

36. Which of the following statements are correct ?Wﬁ‘@ﬂ:[ H Arergad @y § EfaRad § 9
about Lokayukta in Rajasthan? P A HYT TE B?

(A) He is appointed by the Governor and is (A) 98 ISTUTd ERT ﬁrgaﬁ vd faurar &
responsible to the Legislative Assembly. ufer Soverl 8T 2

(B) His jurisdiction spans over Ministers, (B) S9@T &R w#l, W REma @
members of State Legislative Assembly and Tl U o ollh Qaet 9 el |

: higher C}Vll Servants. ‘ (C) 98 WTIR Td G- 3 A W

(C) He COIlSl.dC.EI‘S @e cases of corruption and fram wear 81 _
e = Bulammgo ; (D) SHHT H1E ARG B g FAT 8, 7 6

(D) His job is confined to investigate allegations R S
and not grievances. @l

Code : BE-

(1) (A) and (D) M A 3R D)

(2) (A) and (C) () (A) T& (©)

(3) (A), (B) and (C) @) (A), (B) W@ (O)

(4) (A), (B), (C) and (D) @' (A), (B), (C) Td (D)
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37. The correct sequence of Chief Justice of @Qﬂ?ﬁ $ IHdH A b G A B

39.

41.

Supreme Court of India is -

(1) B.P. Sinha, P.B. Gajendragadkar, S.R. Das

(2) Ranjan Gogoi, N.V. Raman, Deepak Mishra

(3) H.L. Dattu, T.S. Thakur, Jagdish Singh
Khehar

(4) K.G. Balakrishanan, S.H. Kapadia, H.L.
Dattu

- Who among the following is eligible to be

appointed as the Chairperson of Rajasthan State

Human Rights Commission?

(1) Chief Justice of High Court

(2) Prominent Social Activist

(3) Chief Secretary Level Officer

(4) Director General of Police Level Officer

Which one of the following is not basic element

of the citizen charter?

(1) Provision for the inspection of the agency’s
work

(2) Description of services being provided by
department or the agency

(3) To expect any public record

(4) Promotion of various methods to get benefit
from the services available

Identify the incorrect feature of the recently
declared ‘UDAN’ scheme of the Government of
Rajasthan -

(1) Under this scheme all women in the state will
get free sanitary napkins from 19%
November, 2021

(2) For effective implementation of the scheme
2 Brand Ambassadors at state level and 1 at
district level will be engaged

(3) The scheme aims to make women aware
about better health and individual physical
hygiene y

(4) The scheme will come into operation from
19® November, 2021

Which Section of the Rajasthan Panchayati Raj

Act, 1994 has been amended to replace the

expression ‘Gram Vikas Adhikari’ in place of

| HH © —

() a4 Raeer, fLd). ToETSaR, THAR. T
(2) Y519 TN, TA. @Y <01, duw s

(3) Ta.ud. Y, LUH. SR, SHaI g WsR
(4) &S0, qTHYME, TH.GH. HIURSTT, Ta.Ud.ag

ﬁﬂiﬁﬁﬁ@faﬁﬂwmwm

AT @ gl ug R PRgfaT ¥ g 27

(1) Sz <urATery &1 &I <R
(2) @ w9 |41 e

(3) gz wferg wR &7 DB

(4) gfers AeIeeid &R &1 ARHR

%) frefied § ¥ TIRT IR TF B q9 T

# B9 aftafora w8 87

(1) Sif¥epRor & B @ fRIeroT b1 Yraer

(2) fawmT AT JAMHIOT §RT USH &I ST I8
Jqrail P faaxor

(3) fi <N srfder @1 e

(4) Jarii &1 @ SeM @ forw fafve fafri
B g HRAT

40. IR WRBR ERT 341 811 ®, g9ifdd ‘SsH

AT @) Terd faemar Riffea B —

) 39 AT @ AT TR B gl "R
BT 19 FaR, 2021 ¥ Tl A9l F:gew
forerar

(2) g5 @y fharaeE @ forn s wR)
R T AR e TR W T gie TSN
1T SR

() 39 AT P SeYd AEARN P I8
Ry 3R AfRTTd INIRS Wewdl & ufa
SRT6® g &

(4) I AT 19 FaWR, 2021 ¥ AR 8RN

@ <o v T o, 1994 € fea

ERT BT T B ITH Fah' & WIF | TH

‘Gram Sevak’? Ty 87

(1) 88 (2) 89 . (1) 88 (2) 89

(3) 91 (4) 90 (3) 91 (4) 90
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42.

According to the ‘Rules of Procedure and
Conduct of Business in Rajasthan Legislative
Assembly’, which of the following department’s

42.) 3ot faumaar @ ufshar qun &Rl Serers

el g & sgaR ifeg § @ @9 9

Page 12 of 32

estimates do not comes under the control of o EY 87
Estimates Committee ‘A’? (1) Ry fawme
(1) Education Department (2) wrdsitrs Bt fn
(2) Public Works Department @) fre R
(3) Finance Department - frnr
(4) Home Department -
43. The case of Vishakha and others Vs. State of  43- faurar 9 o g9 RISTRIT 5 G 3 ﬂ'éb?TlT
Rajasthan and others is related to - T & —
(1) Prevention of the practice of dowry prevalent (1) 9191 # T T2 9T & Ydeld Bl ‘\ﬁ‘cﬁeﬂq
in the society q
(2) Maternity leave in respect of working women (2) BB AR B Hged BT A
(3) Transfer policy for women (3) wfearall a5 Tareer Ay &
(4) Prevention of sexual harassment of women at @) sk R et @ dF SdeT @
| work place SIeperTd 3
44. Which feature of Chief Minister Chiranjeevi 44 TRersal RO wren €1 Ao B ﬁﬂ?ﬂ
Health Insurance Scheme is incorrect? forear g 87
(1) Under the scheme for different ailments 1576 (1) =1 @ ofava A= f=Ral & 1576
types of packages and procedures will be . YHR B TP UF RN SURT & |
available. .
(2) The disease for which a patient is admitted to (@) 5l Foret e = ﬁm A fﬁ 7 =Hn
a hospital, 5 days prior to that and 10 days € 9@ 5 fa qg?[ o A @ 10 ﬁ:{
after the discharge from the hospital all 1% T ATl H DI TG T’ﬂiﬁ gargal g
expenditure on investigation, medicines and WY Yob B Fg Upel b ART H
consultation fee in the hospital will be wftafera g1
included in the package.
(3) It was started on May 1, 2021 Clestoil i q‘;,‘ 2021.@{ i TE{I .
@ U = . @ 3zg do & Sfaid MR GEIRAl 'g
nder this scheme an insurance cover of Fren
% 4.50 Lakhs is payable per year per family 450 e @ IR Em drHT PR wd
: for serious ailments. A IRAR <7 ¥ |
45. Which  Constitutional ~ Amendment Act 45 Isf =fye fgfad smrT & G&fg & A
dealing with National Judicial Appointments Sifaum™ HeE IfRfFE o STaas Ry &)
Commission, was declared unconstitutional by wfau fie 3 saufAe ot oy fear o
the Constitution Bench of the Supreme Court? L i ;
(1) 99" Constitutional Amendment Act () 993\? Qe wee s
(2) 97™ Constitutional Amendment Act (2) 9741 ifdermr s sifafm
(3) 100™ Constitutional Amendment Act (3) 100dT wfder wemeE sifafRE
(4) 98™ Constitutional Amendment Act (4) ogdi wfders Heere srffrm
46. Rajasthan Public Service Commission presents ~ 46. [GRelT alidh {7 MR 39 BT &7 aIfifep
its annual report to - yfaaeq U BT & —
(1) The Governor of Rajasthan (1) IrqTel & THeT
(2) Chairperson of the Vidhan Sabha (2) RyTTaYT acge & 9o
(3) The President of India (3) TR B ey
(4) Chief Secretory (@) e W & e
01-%



me%maﬁﬁm, 2009 & UTERIHT &

47. According to the provisions of the Rajasthan
Municipal Act, 2009, maximum number of AR, ST WHR gRT TR R # siferaH
persons that can be nominated by the State fope afaa = fAfdse &3 o w87
Government in Municipal Council is - ) 16 @ 6-
A - : (3) 8 4 12
(38 4 12 :
48. In which of the following year, for the first time . RIS eafee Har AfeRET & q‘&'?*ﬁ IR
"~ Rajasthan Administrative Service Officers were fTel Folgex B BU H USR] foreiftra % @
posted as District Collector? fog ad 9 g of?
(1) 2013 (2) 2021 (1) 2013 (2) 2021
(3) 2009 (4) 2018 (3) 2009 (4) 2018
49. Consider the following statements regarding  49- oy fafem ami, wowae & wefd
State Election Commission, Rajasthan - f=ifrg dol W R S —
(i) The State .l:jlec‘;if)n ]fomm;ssioll;gl:ajasthan () ou frafee omEE, YoM BT e
was constituted in December, : e
(ii) It has a Seéretary who is also the Chief § few, 1994 ¥ gl | '
Electoral Officer for the state. (i) §EI Y@ Wi o 8-S I B g
Code : fRrafem ey +f 8T = | '
(1) Only (i) is correct N ok
() Oﬁly (ii) is correct () wast )50
(2) gt (i) FET ©
(3) Both (i) and (ii) are correct 3) (i) 3R (ii) ST wE F
(4) Neither (i) nor (ii) is correct (@) 5 dr () 3R T & Gi) T
50. Which of the following is not true about the 50 Ha+T & IMRHR ARFRF & Sewdl & waer
objectives of the Right to Information Act? frfaad & & prrar et Tel &
(1) To promote transparency and accountability 44 Wﬁ ® ﬁ QEI
in the working of the government BT TG
(2) To empower citizens (2) IRST BT T BT
(3) To empower the women and weaker sections (3) eIt Y AR T FAAR DT (M) B
of the society AT BT P oG B AT !
(4) To make our democracy work for the people (4) EIR Slibc= I YT ST A 9§ AT
in real sense # ot & fog s
51. Which among the following are parts of Thar 51 f= § § UR FoRercd & W7 &7
desert? (A) TSdrs yodl (B) I@M@TEY Haw
(A) Godwar Tract - (B) Shekhawati Tract (©) T BT AeE (D) TR Bl Ne
(C) Banas Plain (D) Ghaggar Plain :
(1) (A), (B) and (D) M (A), (B) T (D)
(2) (B) and (C) (2 (B) T (O)
(3) (A) and (B) (3) (A) 7@ (B)
(4) (A), (C) and (D) @ (A),(©TE D)
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52.

- 53.

55.

56.

Match list-I with list-1I and select the correct
answer using code given below -

List-I (Tourist Centre)
(A) Lalgarh

(B) Tripura Sundari
(C) Gagron Fort
(D) Nakoda
List-II (Location)
(1) Jhalawar
(i1): Barmer
(ii1) Bikaner
(iv) Banswara
Code -
(1) A-Gii), B-(iv), C-(i), D-(ii)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(iii), B-(ii), C-(i), D-(iv)
(@) A-(ii), B-(1), C-(iv), D-(iii)
The following characteristics are of which river?
- Originates from the Aravalis near the Fort of
Kumbhalgarh. '
- Flows through the Mewar Plam -
- Bedach, Kothari and Morel are its tributaries.
(1) Mahi (2) Banas
(3) Luni (4) Chambal

- The second highest percentage of Scheduled

tribe population in Rajasthan is found in
(2011) -

(1) Dausa District

(2) Pratapgarh District

(3) Dungarpur District

(4) Banswara District

Which among the followmg is situated on North-
South corridor?

(1) Kota (2) Lucknow

(3) Agra (4) Kanpur

Which among the following is not correctly
matched?

Lake - Country
(A) Balkhash — Kazakhstan

(B) Titicaca — Bolivia-Peru
(C) Erie — USA-Canada

52.

53.

A1 B G-I ¥ gafora $ifrg qem |8

IR & 999 A1 A Fe 7 | R —
A1 (Tes wre)

(A) dTelTe

(B) R g1

(C) TR fFem

(D) HTHIST
A1 (Rerfcy)

(1) STelrdare

(i) ISR

(111)@?5!#'\’

(iv) giEareT

@'_

~1) A-(iii), B-GQv), C-(i), D-(ii}*
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(iii), B-(ii), C-(i), D-(iv)
(@) A-(ii), B-(i), C-(iv), D-(iii)
fe=ferReaa faeivamd few =& @1 82 <
— ST I TS fbhel & Fide sR1aen

TEIRE @ 21

~u€ﬁm$ﬁmﬂ$mﬁm%l
~ 9€9, BN g AR $HD! GEIS AfRAr § |
(1) "1 @Y g4
(3) o+ (4) =g

@Wﬁaﬂﬁawﬁmwﬁ‘cﬂa

55.

56.

W W) 99 ufaerd 8 (2011) -

(1) Srar forer #e
(2) yamaere et &
(3) SRR forer #
(4) gigarer el
9 # 9 P STR—cfer Tferar R Rea 87

(1) Prer () a1

() T (4) BTYR

= d 9 e w8 gafoa =78 87
M — a9

(A) 9T (dTeHT) — HOTRIRIA

(B) feiarar — aehfaur-uw

(€) N — YA -BrS]

(D) Baikal — Ukraine (D) ST — Yebe

(1A @ B M A (2) B* -

@3 C @ D ®3) C @ D
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57. As per Koeppen’s climate classification, which @ B & TAaR T & AR =1 7 4
among the following are correctly matched? I I |l guford 14
(A) Cwg - Bharatpur : (A) Cwg - IRAR
(B) Bwhw - Barmer (B) Bwhw - AT&™R~
(C) Bshw - Ganganagar (C) Bshw ‘s TR~
(D) Aw - Dungarpur (D) Aw - w
(1) (B), (C) and (D) B, (o3 D)

- (2 (A), (C) and (D) @ (A), (C)wE (D)
(3) (A) and (D) () (A) T (D)
(4) (B) and (C) 4) (B)WE (C)

58. According to 2011 census, the districts having @) 2011 @ SEVET & FIEAR, ORI & BIA
highest rural and urban sex ratio in Rajasthan A el # yrfer iR TR fofrua waifte
are - £

Rural Sex Ratio - Urban Sex Ratio ; T feiTEuE — TR e k
(A) Rajsamand - Banswara (A) IR — giaarST.
(B) Dun ur - Tonk : Lty
(C) Pali e - Churu ?(3:; fm@ s 2;5
(D) Jalore - Nagaur D) TR _ iR
O e (mc AR
@) A 4 D | @) A P

99. In which year Rajasthan Solar Energy Policy @Eﬁ?{ ¥ a¥ § IorE GRSl Aify aiftg @
was declared? otk g ofy? .

(1) 2017 (2) 2019 (1) 2017 (2) 2019
(3) 2015 (4) 2018 (3) 2015+ 4) 2018

60. Which among the following is correctly @ =1 % 4 $19 91 |98 gafoa 27
matched? (A) HiS-BLUE — BEIUR
(A) Mando-ki-pal — Feldspar (B) TaTST — W1 TG ST
(B) Talwara — Lead and Zinc ( C') ARATST — TR -
e b e

ishabhdev — Mica :

D @A i il

3) D VB 3) D )
61. Doda Betta Peak is situated in- - Srel-9gT Al Rerd & —

(1) The Satpura Range (1) wager sioft #

(2) The Vindhya Range (2) faeegr=er soff &

(3) The Anaimalai Hills @) IS uETreEl A

~ (4) The Nilgiri Hills (@) Srrfirey iR e
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62. Match list-I with list-II and choose the correct

63.

64.

65.

answer from the code given below-
List I (Landform)

(A) Aconcagua

(B) Meseta

(C) Serengeti Plains

(D) Gibson desert
List —II (Continent)

(i) Australia

(i1) Africa

(ii1) Europe

(iv) South America

- Code -

(1) A-(iv), B-(ii), C-(iii), D-(i)
(2) A-(iv), B-(iii), C-(ii), D-(1)
(3) A-(ii), B-(iv), C-(i), D-(iii)
(4) A-(iii), B-(ii), C-(iv), D-(i)

Gogelav Conservation Reserve is situated in
which district?

(1) Pali (2) Nagaur

(3) Jalore (4) Churu

Which one of the following is not correctly
matched? '

(1) Detroit — Automobile

(2) Gornaya Shoria — Cotton Textile

(3) Yokohama — Ship Building

(4) Anshan — Iron and Steel

Match list-I with list-II and choose the correct
answer from the code given below-

List-I (River)
(A) Godavari

(B) Mahanadi .

(C) Damodar
(D) Kaveri
List-II (Tributary)
(i) Bhavani
(ii) Penganga
(iii) Seonath
(iv) Barakar
Code - -
(1) A-Giv), B-(ii), C-(i), D-(ii)

(2) A-(iii), B-(i), C-(ii), D-(iv)
() A(ii), B-(iii), C-(iv), D-(i)
) A-(i), B=(ii), C-(iv), D-(iii)

62. -1 vd GA-11 I GAfera B g A

fad 70 He # ¥ W W gAY —
FA-I (Rrelihicr)

(A) UHIGTLAT

(B) ®¥ET

EB A-(iv), B-(ii), C-(iii), D-(i)‘j

2) A-(iv), B-(iii), C-(ii), D-(1)
(3) A-(ii), B-(iv), C-(i), D-(iii)
(4) A-(iii), B-(ii), C-(iv), D-(1)

63. TreTa Wit & e Rrer # Rera 27

® arir
4 75

(1) grel
(3) SR

(64) formr 3 & B w1 TP wE G T 2

(1) ecfae — sifemEss

(2) =TT MRET — el o
(3) FprEMT — STeard Ao
(4) 3= — <iET Ud ST

(65 -1 =1 w1 & R PR 7o A

fed 7 Fe # | ¥ W gAY -
-1 ()

(A) TMETaRY

(B) HEMAl

;)m

(D) BTN
-1 (F8E® 4))
() war
(i) U
(iii) fera=mer
(1v) EIRThR
E‘\E -
(1) A-@iv), B-(ii), C-(i), D-(iii)
(2) A-(iii), B-(i), C-(ii), D-(iv)

AT A(i). B-(i). C.G). D-0)

(4) A-(i), B~(i), C=(iv), D-i

01-%
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66. Which among the following is correctly  66. fop=y % & P Wel Gaferd &7
matched? ‘
(1) Bauxite — Lohardaga (1) SfeTge — ABRET
(2) Mica - Talcher (2) 3yd — TR &
(3) Iron — Koderma (3) BT — BIewH
(4) Manganese — Bailadila (@) S — ARSI ,[a\ﬁ,b\
67. In which among the following district, sub- 67 f=1 ¥ & frw o) # SU—I0T Uaddy &9 Ug
tropical hilly forests are found? T 27
(1) Udaipur (2) Sirohi (1) ST (2) RRE
(3) Jhalawar (4) Banswara (3) ZITeTaTS (4) giRTaTe-
68. Match list-I with list-Il and choose the correct ~ 68. FHi-1 &I A1 & Fafera Py der A=
answer from the code given below - fad Ty g # 9 ¥ SR gAY —
List-I (Site) }@_ -1 (RerT) '
(A) Pavagada (A) 9l9iTe
(B) Tattapani (B) drearit
(C) Muppandal (C) quaa
(D) Kakrapar (D) BIHRUR
_ List-II (Energy) 11 (i)
(i) Wind s
(i) Solar Gi) @R
(ii1) Geo-thermal i) _’,@m
~ (iv) Atomic Gie) m (anoaes)
Code - Hc — } ‘
(1) A-(iii), B-(ii), C-(i), D-(iv) A1) A-(iii), B-(ii), C-(i), D-(iv)
(2) A-(ii), B-(iii), C-(i), D-(iv) (2) A-(ii), B-(iii), C-(i), D-(iv)
(3) A-(i), B-(ii), C-(iii), D-(iv) (3) A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(i), B-(iii), C-(ii), D-(iv) (4) A-(i), B-(iii), C-(ii), D-(iv)
69. ‘Green Energy Corridor’ will pass through @‘fﬁ et PRISR o @ PR #
which of the following districts of Rajasthan? g oo el | geﬁ{rn?
(1) Ajmer, Chittorgarh, Bikaner (1) soTR, friree, faTR
(2) Jodhpur, Jaipur, Alwar | (2) SRR, TR, SR
(3) Udaipur, Bhilwara_, Jaipur ) Wﬂ'\’ S— SR
" ' ;
(4) Kotg, Ajmer, Jodhpur @ Frer, SRR, o
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70. Match list-I with list-II and choose the correct

answer from the code given below -
List—I (District)

(A) Udaipur

(B) Nagaur .

(C) Bhilwara

(D) Kota
List-II (Main Industry)

(i) White cement

(ii)) Chemical

(iii) Textile

(iv) Lead and Zinc

Code -

(1) A<(iii), B-(i), C-(ii), D-(iv)
(2) A(i), B=(ii), C~(iv), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)
(4) A~(iv), B-(i), C-(iii), D-(ii)

70. i1 vd A1 ®1 gAfera g qerm el

fed U He # ¥ 9 S ghw -

-1 (frer)
(A) SEOR
(B) IFIR
(C) HrerarsT
(D) BT
HA-1I (I e
(i) e d=<
(i)
(iii) g1 ST
(iv) T T ST
'ﬁ‘\‘c =
(1) A-(iii), B-(i), C-(ii), D-(iv)
(2) A-(i), B-(ii), C-(iv), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)
A A-(iv), B-(i), C-(iii), D-(ii)e

71. The Net National Product at Market Price IR &l W Y& TSI A & —
(N.N.P. MP) is — (1) 99IR Houf W FHel IS IdE — faew
(1) gross szirtlonaleroiliuct at Market Price — Net A I I ;
come from abroa
(2) Gross National Product at Market Price — @ IR N RGP AL IR -
Transfer Payments EXTROT YT
(3) Gross National Product at Market Price — (3) IR AT W Hhel Y IATE — Hoawrd
Depreciation . .4
(4) Gross National Product at Market Price — 0 U] el B 3
Subsidies ‘
72. In which of the following budget, the Railway ~ 72- f3= & ¥ B9 & oie #, 9Rd # ¥ ol @
Budget was merged with the Union Budget in L gore ¥ e fear mar?
India? '
(1) Budget 2016 — 17 (1) g57e 2016 - 17
(2) Budget 2017 - 18 2f aote 2017 - 18
(3) Budget 2019 - 20 (3) g5ie 2019 -20
(4) Budget 2018 - 19 : (4) g5 2018 - 19
73. As per the advance estimates, per capita income @3’@1{ A FI @ IER, 2020 — 21 # ReR
of Rajasthan at constant prices (2011 — 12) for Al W (2011 - 12) ST B Hﬁf fdd
the year 2020 — 21 is — e =
(1) 72,297 (2)% 97,227 (1) 72297% (2) 97,227%
(3) %75,527 (4) 279,722 (3) 75,527% @) 79722%
74. Atal Bhu — Jal scheme was launched on 1 April, - 1 3Wid, 2020 BT URT WPR FRT LS B TS
2020 by Government of India, with assistance of — e -Vl WoH H Wl SuA™ AN
(1) Asian Development Bank qTell I & —
(2) World Bank (1) g ™ 9%
(3) Inter-American Develoﬁment Bank (2 fagg &
(4) European Bank for Reconstruction and (3) 3ra: mRF g ¥
Development (@) T 7 R gg Rrfra ¥
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75. Which of the following is responsible for @ﬁﬁrﬁvﬂ@ﬁ H Y BF SGHM AR G
implementation of “Ayushman Bharat Pradhan S SIREY AT @ fharaas g—@ Iarerly
Mantri Jan Aarogya Yojana”? 27 ' ‘

(1) Insurance Regulatory and Development 1) RS S RS sk e
; Authority of India ) :
(2) World Health Organisation (2) {379 warees
g
(3) National Health Authority @) s bk SR
(4) Niti Aayog @) A W ;

76. What was the rank of India in the Ease of Doing @amﬁ grar RUE, 2020 & AR, 391 3%
Business Index for 2019, as per the Doing TS o gEsid 2019 H, YR BT Bl
Business Report (DBR), 2020? I VET?

(1) 146 (2) 96 (1) 146 (2) 96
(3) 77 (4) 63 (3) 77 (4) 63

77. What is the rank of India in the World Happiness @ dos BUMY SUSE 2021 H WRA BT a1 RIH
Index 20217 =04
(1) 129 (2) 141 (1) 129 (2) 141
(3) 139 (4) 121 (3) 139 @) 121

78. What is the proposed plan . expenditure in -)2021 - 22 & ISR — qoe H fagd W Ba
percentage of total expenditure on electricity in TG BT YA AT I BT YT & —
Rajasthan’s budget 2021 — 22? (1) 7.42% (2) 14.32%

(1) 7.42% (2) 14.32% (3) 12.05% (4) 52.19%
(3) 12.05% (4) 52.19% :

79. Which of the following department has been - ST ¥ Haq fder el & gArdl foharaa=
declared as the Nodal Department for the &g 1 d 9 e v &1 Arsa e aiffa
effective  implementation of Sustainable foar Tar 27 ;
Development Goals in Rajasthan? (1) ST freee '

(1) Directorate of Industries - o :

(2) Chief Minister’s Office #

(3) Planning Department (3) SrarsrT fam

(4) Human Resource Development Department (4) = W faere faHnT

80. In case of critical illness health insurance - TS IR HelHT el ISR Wy d1Hr
covered per family per year under the scheme AT & AN ANld SN WA 9T &
Ayushman Bharat Mahatma Gandhi Rajasthan Refg & gfer uRaR ufgy a¥ & 9= arel <fer
Swasthaya Bima Yojana is — 4t B
(1) ¥ 4.00 Lakhs (2) ¥ 3 Lakhs (1) 4.00 oTg 2 3ea e
(3) ¥ 3.50 Lakhs (4) % 4.50 Lakhs (3) 350 arE T @) 4.50 g 2

81. Which of the following district is not a part of - ffoRaa § 9 sR-—w1 Rren vIoRmE | w79
‘Desert Triangle’ in Rajasthan? BT BT 9T T8 27 :

(1) Jaisalmer (2) Barmer (1) SRR (2) sTeHw
(3) Jodhpur (4) Bikaner @) SR () piaR

82. What is the share of Rajasthan Government in @ I HY R va ga-ira! Aer F fas amor
funding in National Mission on Agriculture T VORI WRAR BT BET /T 8°
Extension and Technology?

(1) 40 Percent (2) 30 Percent (1) 40 srfcrere (2) 30 wfcrer
(3) 20 Percent (4) 50 Percent (3) 20 wferera (4) 50 wferera
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83. ‘Parwan’ multipurpose irrigation project of  83. [N @) W Rarg g
Rajasthan will provide irrigation facilities in the 1 forell &1 Rimng gl v &l —
following districts — ;

(1) Kota, Bundi and Jhalawar district (1) pier, T SR srerars e

(2) Jhalawar and Bhilwara district (2) Sretrars MR Hierarst foren

(3) Jhalawar, Baran and Kota district @) srerars, qR7 3R Brer forer
* (4) Tonk, Bundi and Kota district (4) i, T 3R PreT fren

84. According to Rajasthan budget 2021 — 22, in 84 ITRIM qoic 2021 - 22 & AR, fhicH
which district the Fintech Digital University will Sfirea favafierey o e fea e 4
be established? Brfi?

(1) Ajmer (2) Jaipur (1) 3ToTER (2) SIgR
(3) Jodhpur (4) Sikar | (3) IR (3) R

85. When was the “PM Kisan Maandhan Yojana”  85- &g 3R dmr fhami @ foF & Sewg 9
launched for the purpose of pension to small and "G fHAE AEEE AT B R 6l
marginal farmers? Tg?

(1) 26 January, 2020  (2) 25 August, 2019 (1) 26 S8, 2020 @) 25 R, 2019
(3) 12 September, 2019 (4) 15 August, 2020 (3) 12 Rya=R, 2019 (4) 15 aFRa, 2020

86. What is not included in the Index of Industrial  86. glenfid Saea fAcwed, &1 & “RdAE
Production (IIP), which is the measure of sreferaren ¥ sfenfire fhamll &1 |9ue 8, 399
Industrial activities in the Indian Economy? w7 afafera 92} far sirar 87
(1) Electricity (1) faga

(2 Mining @) @
(3) Gas and water supply @) g @ SRy
(4) Manufacturing (4) fafyeor

87. For empowerment of women Indira Mahila = 87- #fgemeii & Hefddadxvr &g sfawr afeen i
Shakti Nidhi was launched on — ey @1 goana g o —

(1) 18 December, 2018 (2) 18 December, 2017 (1) 18 fegma, 2018~ (2 18 fewwR, 2017
(3) 18 December, 2016 (4) 18 December, 2019 (3) 18 foxwaR, 2016 (4) 18 fdww”, 2019

88. According to census — 2011, what was the work ~ 88. G=UFT — 2011 & SFJER, ¥R UG XTSI
participation rate in India and Rajasthan # orf wediar <), sHen fha wE?
respectively? : ;

(1) 39.8% and 43.6% (1) 39.8% T 43.6%
(2) 42.4% and 41.8% (2) 42.4% T 41.8%
(3) 39.8% and 36.4% (3) 39.8% Td 36.4%
(4) 43.6% and 41.8% (4) 43.6% U4 41.8%

89. ‘Base year’ in National Income accounting 89 I M oi@i1 § ‘IR a¥ &7 31ef 8 —
means - MR af @ @ &1 IWFT IS
(1) The year whose income is being used to oft. €1 & &) AT B fore R e

calculate the real GDP . @ g a8 & FEal B SWET IRAfad
(2) The year whose prices are being used to B | ) b o L o R o
e T (3) Rorer o 2 s &1 SwEE A o A, D
(3) The year whose income is being used to &Y ToFT B fore Rear omaT 2 |
(4) ’Cr?]lg'uizz:z:h;;:sr:lgicfs]) l;e being used to ™ g‘\t{@aér :).? aﬁqﬁ; f;rmq - qi??ﬁ
calculate the nominal GDP e S e
01-%
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90. Which of the following statement is wrong about ~ 90- JTSTeeI™ ¥ XIS I YaRTo AFAIH & G
Rashtriya Gram Swaraj Abhiyaan in Rajasthan? ¥ Preffag § ¥ FH-1 $AF Tad 7
(1) The funding pattern of this scheme is to be
shared between Central and State Govt. inthe - : (1) 9 Fior 7 fom oo & fory EF}:; g XY
ratio of 60:40. WHFR & 99 60:40 & U H RWIERY
(2) Focus of the scheme is on capacity building B 81 . Ly
. b (2 30 Ao # R e SEufafeEl ol
of elected representatives and functionaries. RS o ema GO TR 2| ;
(3) Slogan <?f the scheme is ‘Aapni Yojana (3) g Ao BT AR & oo ST STu
Aapno Vikas’. : e |
(4) Panchayat Shashaktikaran Abhiyaan was @) varad SR SR BT & A
renamed as Rashtriya Gram Swaraj FcTh] TT I ¥aRIS] 3ifrare fesam
Abhiyaan. 2|
91. A guantum dot is - 91. FajeH Sfc & —
(1) A semiconductor nanostructure (1) T A= Gl
(2) A fictional nanorobot (2) va Ffoyg FARERE
(3) Electron microscopy image of nanostructures (3) 1 THHIER ¥ BIET A1 WA BT SoideiA
smaller than 1 nanometre ﬁ&ﬂ’c&’ﬁ yfafa
(4) Nanoscale analog of radio antennas (@ YR TAT BT DT ITHI
92. With a 16:9 picture aspect ratio, display 92 16:9 & oz sifFEar s (Raer e
resolution 1080p means - ) @ A, ueY e (fewe Reifegem)
(1) 720 x 1080 pixels 1080p @1 31f & —
(2) 1080 x 1080 pixels (1) 720 x 1080 frRiew
(3) 3840 x 1080 pixels (2) 1080 x 1080 faiest
. (3) 3840 x 1080 foeRicH
(4) 1920 x 1080 pixels ool 1005 Lm0 Wiy
93. Kadaknath is a breed of - 93. HeHTY TP fFe & —
(1) Fowl (2) Bull O it & @3 R
(3) Buffalo (4) Goat (3) ¥ & (4) g B
94. Trisomy 21 is known as = 94. ;‘ls"\qﬁﬂaﬁﬁfﬂﬁﬁﬁmwﬁmm
=4
(1) Edwards syndrome (%1) veasH RigH
(2) Gray baby syndrome @ ¥ 3@ Rigw
(3) Evans syndrome (3) gara Rigm
(4) Down syndrome 4) <o RigH
95. Which part of human body is infected by the 95 SITUF sRIBeged BT RS fauTTg. H‘j&r IRR
virus causing Japanese encephalitis? B fow R &1 IHfAd ®xar 27 ‘
(1) Skin (1) <=1 '
(2) Brain - (2) 1fa=n
(3) Red blood cells (3) airer R PR
(4) Lungs (4) m 3
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96.

97.

98.

99.

100.

Which of the following is not a Zoonotic
disease?

(1) Plague

(2) Rabies

(3) Mucormycosis

(4) SARS

Full form of MOEMS is -
(1) Mega Operations Electronic Media Software

(2) Micro-Optic Electronic Media Source
(3) Micro-Opto-Electro-Mechanical-Systems

-(4) Micro-Optic Electro-Mechanical Source -

Which of the following frequency bands is not

used in INSAT/GSAT satellite communication?

(1) Ku (2) Ka

@ C (4) MF

How much has the global average temperature
risen in the last century?

(1) 3.4°F (2) 2.4°F

@) 1.8°F (4) 3.0°F

An inverted pyramid of biomass can be found in

which ecosystem?

96.

97.

98.

99.

100.

fraffas % @ 9 @ T RS AT A
%

(1) @7

(2) ¥&ror

(3) REPRAEPRR

(4) THUIRTH. (SARS)

MOEMS &1 U0 & —

(1) F17 SR geragife HIfeAT Hireda”
(2) Higp-diffted goragite Mfear G-

(3) A I-goae —HD Th A~
(4) TrgshI—3iified goag-—dBbMHa A

= § & ®19 a1 smgfr ds INSAT/GSAT
SUYE WAR vg ST # el formm i 27
(1) Ku (2) Ka

@) C (4) MF

o & # IMRaw sivaa ama= # fea gig
g e

(1) 34°F (2) 2.4°F

() 1.8°F @) 3.0°F

I BT U Soel fURifie fda wiRRerfae!

a3 ¥ urar & Ghr 87

(1) Marine ~ (2) Forest Q) =g (2 g9
(3) Grassland (4) Tundra @3) 719 37 e @) gg1

101. The State Remote Sensing Application Centre ~ 101 s 3R Urenfia famT & ol BRIk sy
working under Departmeht of Science and Rele IR Teiidee dex Rud & —
Technology Rajasthan is situated at -
(1) Ajmer ~ (2) Jhalawar (1 e @l
(3) Jaipur (4) Jodhpur Gl i s

102. Which of the following vitamins are fat soluble? ~ 102- fary & & 19 & faei@=a @ § gerrela &7
(1) Aand C (2) Aand D (M ATE C @ AT D
(3) Bizand D (4) Cand E (3) B, Td D @) CTd E
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103.

104.

105.

106

107.

108.

109.

110.

Mother — foetus Rh blood type lncapablhty
problems can occur if the mother e
and her foetus is...........

(1) Rh positive; Rh positive

" (2) Rh negative; Rh positive

(3) Rh negative; Rh negative
(4) Rh positive; Rh negative

Compressed Natural Gas (CNG) is mamly -

(1) Ethane (2) Methane

(3) Butane (4) Propane

The motto of Defence Research and

Development Organisation is -
(1) Tejasvinavdhitamastu |
(2) Balasya Mulam Vigyanam
(3) Jagratam Aharnisham

(4) Vayam Rakshamah

Solar observatory in Rajasthan is situated at -
(1) Udaipur (2) Jodhpur

(3) Jaipur (4) Ajmer

According to India State of Forest Report 2019,
in which one of the following district, very dense
forest area is minimum?
(1) Alwar

(3) Jaipur

(2) Jodhpur
(4) Jaisalmer

Malignant malaria is caused by -

(1) Plasmodium falciparum

(2) Plasmodium malariae

(3) Plasmodium ovale

(4) Plasmodium vivax

The state flower of Rajasthan is -

(1) Sunflower (2) Kachnar
(3) Rohida (4) Nag Kesar

In Stethoscope, the sound of the patient’s
heartbeat reaches the doctor’s ears by -

(1) Multiple refraction of sound

(2) Polarisation of sound :

(3) Multiple diffraction of sound

(4) Multiple reflection of sound

@wm@%mmmﬁwﬁﬁw

104.
(1) e

105.

106.

107.

108.

109.

110.

Ws‘rwﬁ?ﬁ%aﬁ'w RS

(1) Rh &fgd; Rh |f2d
(2 Rh €9; Rh wfed
(3) Rh &; Rh &9

(4) Rh 6f2d; Rh &9

HOfEa wapfae T (Hoash) geaa: € —

(2 #iee

(3) (4) T

el U U9 fdbrd Hired &1 ana"efam
3

(1) aoRaTaE TR

@) o= ot s

(3) e arsfery

(4) 97 3emH:

RISRI H AR derermer $el Rer &7

(1) SgagR o (2) SregR H

(3) SragR H (4) TR #

4R 9 Rerfa R 2019 & @R, =1 4 |
e va f7el 4, 980 991 S &A% A

8?7

(1) sraaR (2) SR
(3) SR () SR
ged (Aferre) Heilkar g & —

(1) AT BRIURA |

(2) wEIfsT 7Ry |

(3) AIfETH el 9

(4) wrAIfeTs fada |

TGN BT 0 g9 & —

(1) g (2) HgIR

Q) AfgsT (4) 1T BN
wURDY # N B Ra & gsHT @ @
SqeR & FHI dF UgaAdl & —

W) safy & ag e gRT

(2) eafy & gaur gRT
(3) eaft & 9g faac+ g1
(4) eafy & 9g RIaT gRT
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131

A statement is followed by four arguments
numbered I, II, IIT & IV. Choose which of the

- argument(s) is/are strong argument(s)?

112.

113.

114.

Statement : Should the rule of wearing helmet
for both driver and pillion rider
while driving a motor cycle be
enforced strictly?

Arguments : I No, each individual knows
how to protect his own life and it
should be left to his discretion.

IT Yes, it is a rule and rules should
be followed strictly by all.

Il Yes, it is a necessity as the head
is most sensitive/controlling
organ, it should be protected by
the helmet. ,

IV No, it does not ensure safety of
the head.

(1) None is strong

(2) Only I and IV are strong

(3) Only II and III are strong

(4) Only I and 11 are strong

Each of the digits 1, 2, 3,4, 5,6, 7, 8 and 9 is
represented by a different letter in the following
figure, such that each of “M + N+ P”, “P+ Q +

R”,“R+S +T” and “T + U + V” is equal to 13.
Which digit will ‘R’ represent?

MNP
Q

RST

U

v

(1) 4 2 3

(3) 2 @1

Suppose that in a particular code, TIGER is
written as QDFHS and MERIT is written as
SHQDL, then in the same code, FROZEN will
be written as -
(1) MDEZOR

(3) MEYNQD

(2) EQNYDM
(4) MDYNQE

If on a certain amount, the difference between
Compound interest and Simple interest at the
rate 5% per annum for three years is ¥ 183, then
the Principal amount is -

(1) ¥ 8,000 (2) % 24,000

(3) 21,000 (4) T 18,000

M. 15 PoF & garq aR @@ L 11, 11 3R IV Ry

Mg F| BT @) 9@ e Aegag ?/E

gf
FHYF : FT Aex Aisfhal BT FAd THI A
3R fiwel e w I3 =faa H1 & forg
TAHE UBHH @ 19 &7 H3RAT I U
HRAT AMERY? ‘
ad : 1 -8, uAS fdd @d B SNaq oY el
HY P & oAl & Ud 39 SUD
fade W Bre o= AR |
I & g8 fuw 2 &R famt o aresm
Hee q N B B TRY |
Il &, I8 eawgs & dbifd RR ;WK
BT GeA Adgad / Fradss & g,
¥ BANC ERT GRIE v =1fay |
IV 781, a8 RR @& gRenm ghfkaa =8
- R B
(1) P qa Forqe e 2
(2 daa 1 IR IV d® 7919d &
3 dae I iR I g Aoigd &
@) dadt 1 3R 1T Folgd 2

M2 o g # A= seerRt &1 8fdi 1,2, 3,4, 5, .

6,7, 8 31k 9 yehifa fFar a1 8, S 39 R
2 b udd “M+N+P”,“P+Q+R”,“R+S
+T AR “T+U+V”, 13 R 2| R f5a

3P BT uefdia Hvar 87
S E
Q‘i
S-T4
8.8 ue
V3
(1) 4 2) 3
(3) 2 (4 1

1. 771 5 @e (drs) f¥w # TIGER &I

QDFHS ®! a¥g @ MERIT &7 SHQDL @}
we forar o 2, @@ s @ (FrE)

FROZEN &) 39 a8 forar s —
(1) MDEZOR (2) EQNYDM
(3) MEYNQD (4 MDYNQE

M4 {5 o9 & 5% affF <= 9 9 ad & asgfy

TST dUT FEIRUT &Te] dI 3A=<I¥ 183?%\’,31
P ¥ —
(1) 8,000
(3) 21,0002

(2) 24,000%
(4) 18,0003
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1458

116.

117.

118.

119.

"Reason (R) :

Total number of squares and rectangles (both) in
the following figure is —

(1) 23 (2 22
3 19 (4) 21
A rectangular room is 12 meter long, 6 meter
wide and 4 meter high. It has two doors of size
2 meter X 1 meter each and two windows of size

1.5 meter X 1 meter each. If the rate of paint .

(on the walls) is ¥ 15 per square meter, then total
cost of painting the walls is -

(1) 22155 271955
(3) 2010 4) T 2055

A die is rolled three times. The probability of
getting a larger number than the previous
number each time is -
(1) 137216

(3) 5/72

() 1/18
(4) 5/54

Arithmetic mean of the numbers between 1 to
156 which are divisible by 2, 3, 4 and 6'is -

(1) 78 (2) 76
) 74 (4) 91

Given below are two statements, one is labelled

as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Selecting the right man for the

right job at the right pay is the

right approach.

A wrongly selected man is a

liability.

In the above context, which one of the following

is correct?

(1) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’

(2) ‘A’ is false but ‘R’ is true

(3) Both ‘A’ and ‘R’ are true but ‘R’ is not
correct explanation of ‘A’

(4) ‘A’ is true but ‘R’ is false

115.

116.

117

A e Ty for F o iR At () B 3@
& § —

(1)2§ (2) 22

3) 19 (4) 21

U SIATBR HHRT 12 Hex T, 6 Hiex aret
qor 4 HeX A1 B $EH Q1 XA UAd
2 WX X 1 Wik & wd 2 Rasfeal v
159 X 1 #ex & 81 afe qari w®
HAM P X 153 ufad o Aex 8, @ ARt
W T FHRA FT A AT B —

(1) 2155 (2) 19553

(3 2010% (4) 2055%

Td GRY BT I IR BHT Ol 2 | TP IR g4

U EEn ¥ 9 G U SR @) Wi

118.

119.

(1) 13/216 (2 1/18

3) 5/72 (4) 5/54

1 9 156 o A&aRll & Aey Rerd axgmsi &1

S f6 2,3,4 IR 6 & fawsg & &1 AR

e BT —

(1) 78 (2) 76

(3) 74 (4) 91

T <1 ®F v U E e @ g (A) SR

TR B BRY (R) $ B H giar T4 § |

T (A) : 8 M & forg |8 i &1 o=

WEl dq9 W "GT PRA Bl Gl
gfewor 2 |

HRYT (R) : TAd AT 71 Afdd U <RI 2 |

SWIFd e ¥ 99 § 9 o9 91 @ 98 8?

(1) S ‘A’ @ ‘R’ |8) € a1 ‘R’ ‘A’ 31 |8l
T § |

(2) ‘A’ 7Tod ® ofdT ‘R’ 98T &

(3) SHl ‘A’ G ‘R’ W&l § dfbd ‘R, ‘A” B
WE AT T8 ?

® ‘A’ 92 & Af= R’ TaAd ©
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120.

121.

122.

128

A bag contains ¥ 1, 50 paisa and 25 paisa coins
in the ratio 25 : 9 : 5. If total amount in the bag
is 2460 ¥, then the number of 50 paisa coins in

the bag is -
(1) 580 (2) 720
(3) 1760 (4) 360

Virendra is the son of Rajendra’s father.

Rajendra’s paternal Aunt is Manju. Adarsh is the

husband of Manju and son-in-law of Prakash.
How is Prakash related to Rajendra?
(1) Grandfather (2) Brother

(3) Nephew - (4) Son

In the following pie chart, the percentage
distribution of the expenditure incurred in
publishing a book is given — \
Promotion
~ Printing

Royalty <

Binding prETRRSp

Paper
If for a certain quantity of books, the publisher

has to pay X 22,950 for royalty, then what will be
the amount of printing to be paid for the books?
(1) ¥ 38,250 (2) 42,250
(3) T46,250 (4) 36,250

Some of the basketball players are volleyball
players, some of the volleyball players are
badminton players, no basketball player is a
badminton player.

Which of the following diagram represents the

GZIDM @O
& O@

above statement?

0] (2

3

120.

121.

122.

123.

. (3)

up et F 1T, 50 9y qor 25 TN @ Riad
25:9:5% aqurd # €1 A Il & BoA o7
2460% 2, a1 O ¥ 50 I B Ryawi & G
8

(1) 580 @ 720

(3) 1760 (4) 360

=g Toig @ AT BT AT & | Ao b gl
o 8 | ameet w9 1 Ul ® SR yebTer BT IS
2| YHTY Woig W DY FEa &7

(2) s
@ 73

TP D D YBIIH H B drel A BT yierd
foreor fmferRad wig =d # faan wn ® -

(1) <11
(3) Wi

e B R W o fou af et o
g 22,9502, @ fifeT w g aren 2y
F -

(1) 38,250% (2 42,250%

(3) 46,250 4) 36,250%

Rdedlel & 7Y Raars! afedia & 4t Raefel
Raerrsl 81 2 |

frefafaa & & @ w1 form Swad $Ud &
yefRfa &=ar &7 |

) @ @ @
& G

4)
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124. A statement is followed by two assumptions

125.

126.

numbered I and II. Consider the statement and

the following assumptions and decide which of

the assumption is implicit in the given
statement?

Statement : Lalita has a large collection of books
and she keeps on purchasing new
books to add to her collection.

Assumptions : I Lalita has read each and every

book that she has purchaséd.
II Lalita has love and passion for
books.

(1) Only I assumption is implicit

(2) Only II assumption is implicit

(3) Both of the assumptions are implicit

(4) Neither I assumption nor II assumption is

implicit

A statement is followed by two conclusions

numbered I & II. You have to assume everything

in the statement to be true, then consider the two
conclusions together and decide which of them
logically follows.

Statement : Nowadays parents are prepared to
pay any. fee for an elite education
institute for the perfect development
of their children.

Conclusions : I Parents have an obsessive
passion for a perfect
development of their children
through good education
institute.

Il These days all parents are very

well off.
(1) Only conclusion I follows
(2) Only conclusion II follows
(3) Both conclusions follows
(4) Neither I nor II conclusion follows

In a group 6 girls and 4 boys, four children are
to be selected. In how many different ways can
they be selected such that at least one girl should

124. yes o & qTaTq & QEURVTY 1 3R 11 & 7

125.

2| YT R SED yTAI < TS YAURIISA B
IR TR [ I 6 BIA qaaRen Hu
# sfafifea 8?7
HUF : dferd & U GB!I &1 fAwd 68 ©
R T J WuE ¥ Wl v @
forg T gwe @RIe! &l B |
QAR : [ dferar 7 A gRIa WGl § 99
I8 UAP TS TSl B |
11 ferar &1 g & oy @R &R
ST 2
(1) @aar [ gEuRen st 8
(2) e 11 gaeReT Safifea 8
() gl ghuRed siafifRd §
@7 ar I yuRem iR A1 & I qEuURon
sfafifed ®
TP HYF B Ugarg & ey 1 SR 11 Ay g

B el B H & TE URE THBN Bl Gl

T b BT sy FERYT SR 2|

P : AoThe AU U g=@l H ST
e & fon gHeim Rueor Gwes @
e ff ¥ <9 BT IR A E |

forepd : [ ATaT-far W oS R e @
AegH ¥ UM qdl @ 9IoW fAer
B g AR B |
11 sToTder ot ArT—fen agd 99 arel

g1

(1) B9 fIsHy 1 SFERYT IR &

(2) Baer fspd 11 SR vl @

(3) S frspy SFERY R &

@ = ar fspd 1 o A1 & ey 11 /R
FAT ©

%emm4m$wﬁa4m

F1 FUF B 2| fhae T3 T WD A
mmmwwémmm

be there? q FH TP dSd! IJaeT 8I7

(1) 209 (2) 206 (1) 209 (2) 206

(3) 210 (4) 214 (3) 210 4) 214
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127.

128.

129.

130.

131.

(1) East

Study the following then answer the question —
Statement: The petrol prices have gone up
during the past few weeks.

Courses of action :

I The government should set up an expert
committee to study the trend of prices.

11 The government should immediately reduce
taxes on petrol. ;

IIT The government should advise the general
public to refrain from purchasing petrol for
few weeks.

Decide which of the suggested course of action

follows. ‘

(1) Only I (2) Only II

(3) Only 111 (4) None of these

In an election of 3 candidates A, B and C, A gets

50% more votes than B. A also beats C by

18,000 votes. If it is known that B gets 5% more

votes than C, then find the number of voters on

the voting list, given that 90% of the voters on
the voting list voted and no votes were

illegal.
(1) 81,000 - (2) 90,000
(3) 1,10,000 (4) 1,00,000

When watch shows 7:45 am, the minute hand
points towards East. After 3 hours, in which
direction does the hour hand point?

(2) North - East

(3) East - South (4) South

In the following diagram, rectangle represents
men, - triangle represents educated, circle
represents urban and square represents
government employees. Which one of the
following represents educated men who are not

urban?
mw
12 j6/13
9 14
11
B
1) 14 (@ 9
34 @ 11

Who has been granted International Eni Award

2020?

(1) Amit Shah (2) Ramesh Gandhi
(3) Satyanarayana Reddy (4) C.N.R. Rao

127.

128.

129.

130.

131.

ffoRad &1 ey &% ueT &1 SR T —

%mﬁzﬁaﬁaﬂmzﬁaﬁmﬁ;ﬁaaﬁaﬁnﬁ
I _

R ¢ :

I PR ® U6 faRms afify &1 769 e
T1fRY S I & YIRT BT T Y |

I ¥WRPR &I UgId TR R ST BH PR a7

TRy |
I ARBR BT ARG AT BT Aellg ) 12T
%@W.H}Waﬂﬂ@ﬂﬁﬁm

I
WW@W@WWM‘

gl
(2) Dot 11

() BT 1
(3) Baat I @) 37 9 g 7

3 SHIGIRT A, BT C & U%h g1d §, A, B &
50% Siferes dic 9Tt Hear 81 A, C @1 18,000
aIe § 1 g 2| Ay U s B 5 B, C W
5% e die gry eRaT 8, O Heern gE W
& P 7RI A B 90% waewei ¥ aie 3
qAT IS Y I 3y T o |
(1) 81,000 (2) 90,000
(3) 1,10,000 (4) 1,00,000
Y B gag & 7:45 @ ®, q9 fme @
S @ B 3R SR oY 2] 3§ 9,
o fem & 3R o B &7

2 SR — gd
— gféyoy (4) feror
T Ry v for ¥, e gout @Y, Bryet il
Pl g9 e B AR T WwHN FHARAT By

fRiféra goy W) m T ¥ P wefifa aﬂj@?
gy e
12 613
9 Du T W
11
R
(1) 14 @9
3) 4 ‘ @ 11
RIS T 3rare 2020 591 wer favar wram
27

(1) srfAa e’
(3) FIARTIT Y

(2) 9T Tefy
(4) T3 g

01-3
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132.

133.

134.

135.

136.

137.

138.

India  has  signed Memorandum  of
Understanding (MoU) in March 2021, with
which of the following countries on cooperation
in the field of Disaster Management, Resilience
and Mitigation?

(1) Sri Lanka (2) Bangladesh

(3) Nepal (4) Bhutan

Who among the following is the author of the
book ‘Marathon War : Leadership in combat in
Afghanistan’?

(1) Jeffrey Schloesser

(2) Carter Malkasian

(3) Chris Mooney

(4) Samuel Moyn

President Ram Nath Kovind granted assent to
which Constitutional Amendment Act on 18
August, 20217

(1) 105" (2) 107

(3) 106" (4) 108™

Rajasthan government has launched an app to
help college students with digital academic
materials. What is the name of this app?

(1) MyCoachingLo app
(2) MyBookLo app
(3) MyClassLo app
(4) MyEducattonLo app

Who is the author of the book “Sanskrm Ri
Sanatan Deeth”?

(1) Aidan Singh Bhati

(2) Dr. Satyanarayan

(3) Arjun Dev Charan

(4) Bhanwar Singh Samaur

Rajasthan Jan Aadhar Authority Ordinance came
into force on —

(1) 11 January, 2020
(3) 11 January, 2021

(2) 18 December, 2019
(4) 18 December, 2020

“Mission Niryatak Bano” campaign to promote

aspiring exporters is launched by —

(1) Department of Industries, Government of
Rajasthan

(2) Rajasthani Foundation and RIICO

(3) RIICO

(4) Department of Industries, Government of
Rajasthan and RIICO

132.

133.

134.

135.

136.

137.

138.

Hrd 2021 ¥ 9RT 7 Aifed § 9 fag
AT HUET Ya=H, FEar 3R I
FHEiI A9 (THIIRY) TR EEIER fhd?

e 2o &
e

(1) sficimr (2) givaey
(3) =91t (4) e
=ifea & & B ReE dR el g

PIEE § BT AHG G&id BT oD
27

(1) Sl TERR

(2) BIER AABRTIA

(3) e Tl

(4) dque AR

Uy XEEY Bifde 3 e dRuE g
IR BT 18 ST, 2021 BT HoR P

(1) 105a9F (2) 1074t
(3) 1064t (4) 1084
o faeffal o1 feofica srarefMe armf

gwﬂum‘rwm%|3ﬁﬂqwmw
?

(1) 71 HIIT & Aw

(2) 7€ g% @ {u

(@) 71 FT & YU

(4) 77§ goYHIF @ V.

I “Hpid & §ARE 48" @ oEgd B 8?

1) g™ Rig

(2) Sf. FIIRRI

(3) 3197 g AR

(4) Fa= Rig AR

T -

%) 11 S9a), 2020 B1(2) 18 fawaR, 2019 &
(3) 11 T=aY, 2021 BT (4) 18 fawaR, 2020 FHY

T e Frafae s yafda fear g -

(1) ST AT, ISR WRHR §RT

(2) ISTRITT BI8vSYE Ud Rl (RIICO) ERT

(3) Rar (RICO) &R

@) SR v, IoReM WRBR Ud Rel
(RIICO) ERRT
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139.

140.

141.

142.

143.

Why Dholavira (Gujarat) was in news recently?

(1) Declared as Tiger Reserve

(2) Included in the list of National Parks

(3) Recently included in UNESCO’s world
Heritage site

(4) This site was hit by terrorist attack

Who among the following won silver medal in
Tokyo Olympic 20217 Select the correct answer
from code given below -

(A) Ravi Kumar Dahiya (B) P. V. Sindhu
(C) Bajrang Punia (D) Mirabai Chanu
Code -

(1) (B) and (C)
(3) (A) and (C)

(2) (A) and (D)
(4) (A) and (B)

Which player was the Indian flag bearer at the
closing ceremony of Tokyo Paralympic 2020?

(1) Sundar Singh Gurjar
(2) Avani Lekhara

(3) Devendra Jhajharia
(4) Tek Chand

Match list-I with list-II and identify the correct
answer from the code given below —
List-1
(A) Bhavina Patel  (B) Nishad Kumar
(C) Harvinder Smgh (D) Devendra Jhajhana
List-11

(i) Archery (i1) - Javelin throw
(ii1) Table Tennis (iv) High jump
Code -

(1) A-iii, B-iv, C-i, D-ii
(2) A-ii, B-iii, C-i, D-iv
(3) A—i, B~ii, C—iii, D-iv
(4) A—iv, B~ii, C—iii, D-i

Read the following statements about Supply

Chain Resilience Initiative (SCRI) —

(i) In the context of International trade, supply
chain resilience is an approach that helps a
country to ensure uninterrupted supply of
import in an unexpected situation.

(ii) This is an initiative of five countries, India is

one of them.

Choose the correct code -

(1) Only (i) is true

(2) Only (ii) is true

(3) Neither (i) nor (ii) is true

(4) Both (i) and (ii) are true

139.

140.

ITERT (ToRTd) 8Tt 81 A Wa”i § aaf a7

(1) e Rojg =ifva gaim

(2)W‘mﬁa%ﬂ3ﬁﬁmﬁaﬁm{_§7ﬁ

@) g & § g o1 fAvg fovmaa '
wffera fasar wan

(4) T8 &I TP BHA BT RGN garw o
ffoRead # 9 oF e safas 2021 4
RyeR e faoar w? 3 T a7 4 4 W&

IR BT PR —
(A) ¥ AR sfer (B) 91 1 R
'(C)Wgrf?fm (D) #ARMEE AN

141.

142.

143.

(1) (B) 7@ (C) (2) (A)Td (D)
@) (A) @ (©) ) (A) @ (B)
SRt WRififye 2020 & GHIOT EERIE W
P RIS IR &gl argsd 9717

(1) g== s ToR

(2) srafy =T

(3) T r=IRAT

4 5 =g

A1 31 A1 ¥ e S siik e &y

T BT # | e IR BT TG DINY —
-1

(A) 9IfeeT uea (B) T AR

(C) &xfdex g (D) wdg s
A1 :

(i) dREh (i) T BP

(iii) 29a1 S (iv) S @&

‘R_

(1) A-iii, B-iv, C—i, D-ii

(2) A—ii, B—iii, C—i, D-iv

(3) A—i, B—ii, C—iii, D-iv

(4) A-iv, B-ii, C-iii, D

3myfet- siwgen erdieus ggd (SCRI)‘of% R #

fer=foRaa st &1 ufey —

(i) IS AR & Fag H MYRi g=aren
T T gfedior B, S UHh o B
fod s Rufy & ema @t Mafu
amgfc @1 gAfea o A 7eE dRaAT Bl

(i) T8 Ura 29 P UH UsA B, WRA ITH A

% 3 |

el Be gAY —

(1) Bt () 9T B

(2) B (i) 9 &

(3) 7 & (i) 3R 1 & (i) I ¥

@) 21 (1) 3R Gi) T &
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144.

Who among the following have got place in
TIME 2021 list of 100 most influential people?
(A) Narendra Modi '

(B) Mamata Banerjee

(C) Adar Poonawalla

(D) Manjusha P. Kulkarni

Correct answer is - ,

(1) (A), (B), (C) and (D) are correct

(2) Only (A) and (B) are correct

* (3) Only (A), (B) and (C) are correct

145.

146.

147.

148.

(4) Only (B), (C) and (D) are correct

Italy won the UEFA Euro-2020 by defeating
which country in final?
(1) Portugal
(3) England

‘Hunger Hotspots Report’ was released on 23
March, 2021 by -

(1) UNICEF -

(2) Jointly by FAO and WFP

(3) Food and Agriculture Organisation (FAO)
(4) World Food Programme (WFP)

India’s first farm based “KUSUM” solar power
project was commissioned in which village of
Rajasthan?
(1) Bhaloji
(3) Chanod

Tianwen-1 is -

(1) Inter Continental Missile of China
(2) Spacecraft of China

(3) Moon rover vehicle of China

(4) Space Station of China

(2) Denmark
(4) Germany

(2) Chitalwana
(4) Rani

149. “NABIMG” is -

150.

(1) A variety of Wheat (2) A variety of Barley
(3) A variety of Millet (4) A variety of Maize
Who is Najib Mikati? =

(1) Prime Minister of Lebanon

(2) President of Egypt

~ (3) Prime Minister of Malaysia

(4) President of Kazakhstan

144,

ferifpd ® | fbwm eEH 2021 foRe 3B 100
AR et # I uTe fasar 27
(A) =% A1

(B) HHT §9i1

(C) SR YATdret

(D) #Hopum . gHaraoft

e TR B —

(1 (A), (B), (C) 3R (D) ﬂé‘r g

(2) Bad (A) R (B) G &

. (3) Bad (A), (B) IR (C) W &
- (4) Bad (B), (C) 3R (D) I& &

145.

146.

147.

148.

149.

150.

XX

gcoll A f5e QW B ERER JETHT JR-2020
BT SiIer?

(1) gefrren (2) ST

(3) graivs (4) S

23 4, 2021 B FR fewie R’ G
ERT O &Y TE?

(1) g% (UNICEF) ;
(2)(FA0)amT(WFP)aﬁ:h$§mwmﬁ
(3) @rer 3R B W (FAO)

(4) fazg @ sRiHH (WEP)
YRGB YU FHN ARG “HGI' VR Sl
qumﬁﬂm%mmﬁw
o m?

(1) HrefIoh

(3) =rvit
a1 & -
(1) I &7 =R "AeIg i s
(2) 9= @1 aRer=

(3) T BT AT AR I

(4) D9 &7 FIRT I

Y T R -

(M) 7E &1 & 5w (2) S @) v e
(3) 9ToRT & U fe (4) HabT BT Th fb
g ATl B 87

(1) Te T B g

(2) frg & wrgafa

(3) 7aif¥rm & werEA

(4) Hoffew™ & Ul

(2) frcrerarn
(4) T=i
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